
 
 

Instructions for Installing Banzai Racing FD Street Polyurethane Motor Mounts 
 

 

 

Please read carefully before attempting to install product 

 
These instructions are for installing mounts on 2 steel engine brackets when removed from vehicle.  

1. Remove hardware & isolators from motor mounts. Hardware will be re-installed in this configuration. 
2. Place mounts on steel brackets. 
3. Place flat & lock washers on bolt-head and thread through bracket and mount. 
4. Attach brackets to bottom of engine. 
5. Lower engine slowly, aligning motor mounts with crossmember mounting holes. 
6. Install isolators & larger flat washer.  
7. Twin Turbo applications must thread bolt from bottom as in Pics #2 & #3 

8. Thread locknut onto end of bolt and tighten securely with wrench (pic #3). Compress smaller isolator to width of 
washer. PLEASE NOTE: DO NOT OVER COMPRESS 

9. Note, Bolt can be installed in reverse if necessary with lock nut on top, but small isolators must be below sub-frame 

 
List of parts in Banzai Racing FD Polyurethane Motor Mount kit: 

 
 4” Grade-8 3/8' Bolt (x2) 
 Polyurethane Isolator & Washer (x2) 
 3/8" Grade-8 Lock Washer (x2) 
 3/8" Grade-8 Flat Washer (x4) 
 3/8" Grade-8 Nylon Insert Locknut (x2) 
 Polyurethane Motor Mount (x2) 

 
If you have any questions or concerns regarding installation of these motor mounts, please contact us via email: 

tech@banzai-racing.com or by phone: (574) 594-2035 

 
Banzai Racing Inc. is not liable for any damage or injury due to installation of this product 

 
 

 

Mounts Mount on Bracket  Crossmember Mounting Holes 

   

Installed #1 Installed #2 Installed #3 

mailto:tech@banzai-racing.com

